AE IR ST (scaling) fhiET V2

HINERRENHIE V(s
et A BE R EIEE V(0)
Scaling Y assumption:

V(s)=V(0)+s“(A+sB+sC+...)

V(s) - 10)
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15 FHE [H B I Ra 5t 2

° El‘)i/_\/_‘g/ \n)bl%?i

LA

A 1 2
« WA ¢i=z(¢d+<pu+¢z+¢r+a pi
- TP EL LB
° *EE nﬁ%i Allocate system:
_ sz = (szx + 1) * (szy + 1);
VS phi = new [sz];
Lattice: rho = new [sz];
O < 1x < szx, 0 < 1y < szy nph = new [sz];
Boundary
ix = 0, ix = szx, 1y = 0, 1y = szy
Coordinate:
x =10 * ix / szx - 5; _
y =10 * iy / szy - 5; Source:

Update:
nph[i] = (phi[i-1] + phi[i+1] + phi[i-szy-1]
+ phi[i+szy+1] + a2 * rho[i]) / 4;
Find error:
chg = fabs(nph[i] - phi[i]);
if (chg > error) error = chg;

rho[i] = x * x +y *y < 1.07 1.0 : 0;

Exchange memory:
t = phi;

phi nph;

nph = t;
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x1l yl <z value> « JHH= e _ _
x1 y2 <z value> & 1Y Animation
x1 yn <z value> Gnuplot: Gnuplot ] loop
x2 y1 <z value> gnuplot> set st da lines fEZE:  “show lap.gp”
gnuplot> set hidden _ .
gnuplot> splot 'lapend.txt’ §pkﬂWapixf|ndeX|
e h-y Lol gnuplot> =i+ 1
DL S 4777 F pause 1
if (i <13) reread

gnuplot> set st da lines
gnuplot> set zr [0:1.2]
gnuplot> 1 = 0

gnuplot> set hidden
gnuplot> load 'show lap.gp'

lapend txt' ——
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- (Self-avoiding) P ﬁu%%‘]%/

“HERELIE A RTE. Displacement:  (R"), ~
..

. I L S Random walk: v=1/2

. E%@Jﬁﬁwgw 2D self-avoiding walk: v = 3/4
A BT R 277 B SE B A B (L 3D self-avoiding walk: v ~ 0.6
ﬂg@%%f&ﬁﬂééﬁ Number of walks: ¢, & u,n»-1

* /NHEIEIZR

: ;EE%%%% (self-avoiding walk) Random walk: y = 1, u,, = (2d)"

2D self-avoiding walk: y =43/32

Application:

EEY) (polymer)

E450+F: DNA, EHE
45 (knot) R




FEK A (Correlated) B (sampling)

&Ly AR ks YR il : itheri ;
7 randorn walk {5 MC %> T g snake) 1
s T
- —3 —
HHE (Rejection) % E%_ﬁﬁﬁgﬁgg%ﬁ\ﬁ f%@@—%i
LB —FF Al RS IakE (RAIRRR)
2. BB ’ . * B s FE (ergodicity) M RE
3. a5 BT IR AT L — iR, IR B R BE
4 BEAN Ry AT R R B U R,
5. [mIE 2. Bk I:_‘
* AHERJAERULES, NABERE A RE ¢
1 E T n > 2 HIFR . |
4,3,2,3,4,3,2,1,0,1,2,3,2,3,4,5,4,3,2,3

1E rejection B [HHT2 3 B & #H & BL—IX
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1k EE R
F Z#HE P2 2 EE Bk 5 R HY lattice sites

F —#EF# %71 S A7 5 snake FIT (59811 sites

1 —HEFEY 1 BIRTE  ( snake SEEAZLLAHHT)
PR ACAE R — AP TP B

Y 2 BN SR B A S B BR AR S

HAh71E

*End-bond, kink-jump, crankshaft
(Verdier-Stockmayer)

*Pivot algorithm

e

Bond-fluctuation model

«off-lattice models
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1. A £25 75 f# Poisson 22,
BRREBHENEME @§§
TNVE = HER R L] o

o RIS ERBEES | o T

B 1 = 100, 200, 400, 800, 1600 . "2,

P ) ~F- 251 5A 2 PR o
3.0 2. T8, K (RY),~n" FHY viE
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